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Problem quickname: 7543

1)
Calculate the correct amount.

a) 12 km? 780522 m? 97 dm? + 27 km? 480638 m? 92 dm? + 7390786688 dm? + 60
km? 143771 m? 94 dm? = 2 km? 514108 m? 87 dm?

b) 21 km? 645594 m? + 35 km? 737852 m? + 21 km? 110976 m? - 1 km? 944454 m?
— 76 km? 549968 m?

¢) 20 km? 271042 m? 79 dm? 59 cm? + 8 km? 752265 m? 98 dm? 6 cm? - +
498933586653 cm? =

d) 20 km? 447193 m? 14 dm? 42 em? + 17 km? 196589 m? 29 dm? 69 cm? + 74
km? 296222 m? 18 dm? 45 cm? + 38 km? 653830 m? 39 dm? 81 cm? =

¢) 75 km? 276066 m? 38 dm? 3 cm? - 8485 m? 71 dm? 40 cm? + 54 km? 230206 m?
28 dm? 50 cm? + 27 km? 258507 m? 60 dm? 40 cm? =

f) 94 km? 464319 m? 57 dm? 61 cm? 38 mm? + 39 km? 198872 m? 17 dm? 42 cm?
98 mm? - -348796145 mm? - =

g) 52 km? 846151 m? 19 dm? 97 cm? + 64 km? 406905 m? 82 dm? 12 cm? + 55
km? 768439 m? 87 dm? 41 cm? - =

h) 97 km? 326296 m? 69 dm? 23 cm? + 62 km? 860853 m? 80 dm? 27 ecm? - + 17
km? 154534 m? 22 dm? 83 cm? =

i) 93 km? 87568 m? 87 dm? 53 cm? 34 mm? - + 40141334797114 mm? + 51 km?
622218 m? 36 dm? 19 cm? 55 mm? = 995 m? 13 dm? 88 cm? 10 mm?

j) 25 km? 974086 m? 59 dm? + 181610988 dm? + 2280179019 dm? + 15 km?
913890 m? 96 dm? =

2)
Calculate the correct amount.

a) 8 Euros 63 Cents - 3 Euros 37 Cents + 51 Euros 72 Cents = 56 Euros 98 Cents
b) 38 Euros 26 Cents - 36 Euros 73 Cents - 1 Euro 16 Cents = 37 Cents

c¢) 22 Euros 53 Cents - 14 Euros 88 Cents - 5 Euros 90 Cents = 1 Euro 75 Cents

d) 30 Euros 87 Cents + 6 Euros 6 Cents - 26 Euros 2 Cents = 10 Euros 91 Cents

e) 23 Euros 5 Cents + 56 Euros 27 Cents + 8 Euros 84 Cents = 88 Euros 16 Cents
f) 78 Euros 55 Cents - 40 Euros 19 Cents - 31 Euros 23 Cents = 7 Euros 13 Cents
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g) 48 Euros 34 Cents + 27 Euros 78 Cents 4+ 5 Euros 51 Cents = 81 Euros 63 Cents
h) 94 Euros 7 Cents + 3 Euros 50 Cents - 82 Euros 17 Cents = 15 Euros 40 Cents
i) 2 Euros 58 Cents - 25 Cents + 38 Euros 14 Cents = 40 Euros 47 Cents

j) 17 Euros 69 Cents + 74 Euros 21 Cents - 82 Euros 53 Cents = 9 Euros 37 Cents

3)
Calculate the correct amount.

a) 5 dollars 42 cents + 31 dollars 15 cents + 6 dollars 91 cents = 43 dollars 48 cents
b) 4 dollars 34 cents + 93 dollars 73 cents + 23 cents = 98 dollars 30 cents

c) 38 dollars 14 cents + 3282 cents + 17 dollars 33 cents = 88 dollars 29 cents

d) 7 dollars 6 cents + 40 dollars 78 cents + 16 dollars 99 cents = 64 dollars 83 cents
e) 13 dollars 25 cents + 68 dollars 86 cents + 529 cents = 87 dollars 40 cents

f) 30 dollars 64 cents + 18 dollars 19 cents + 10 dollars 15 cents = 58 dollars 98 cents
g) 38 dollars 4 cents + 59 dollars 38 cents + 99 cents = 98 dollars 41 cents

h) 43 dollars 52 cents + 52 dollars 85 cents + 59 cents = 96 dollars 96 cents

i) 29 dollars 12 cents + 1 dollar 29 cents + 1 dollar 85 cents = 32 dollars 26 cents

j) 5 dollars 26 cents + 19 dollars 45 cents + 34 dollars 82 cents = 59 dollars 53 cents

4)

Calculate the correct amount.

a) 76 t 54 kg + 7254 kg = 83 t 308 kg

b) 34 kg 743 g + 36 kg 9Tl g =Tl kg Tld g

¢) 5t 840 kg + 17 t 573 kg = 23 t 413 kg

d) 26 t 501 kg + 62 t 537 kg = 89 t 38 ke

e) 27 kg 905 g + 6 kg 341 g = 34 kg 246 g

f) 76 t 346 kg + 15 t 923 kg = 92 t 269 kg

g) 52t 450 kg + 5t 88 kg = 57 t 538 kg

h) 70 kg 300 g + 24 kg 266 g = 94 kg 566 g

i) 56 kg 510 g + 38 kg 610 g = 95 kg 120 g j) 98 kg 942 g + 50 g = 98 kg 992 g

Good Luck!
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